

## **Preventing the Spread** For Your Customers and Clients

## **3.4 oz Hand Sanitizer**

Case of 24 in Counter Display \$2.95 each by the case **Now \$70.80** Full Pallet of 3,600 \$2.70 each by the pallet **Now \$9,720** 

FACE MASK

SKU# MG6708 UPC 8-41437-13272-4



SKU# MG60209 UPC 1-91554-60209-0

## Individually Packaged 3-Ply Face Mask

100 in display box \$.90 each by the box **Now \$90.00** Full Pallet of 17,800 Masks \$.80 each by the pallet **Now \$14,240** 

Contact me today at 800-284-5449 or Scott@HDIforU.com www.HDIforU.com



## **Preventing the Spread** For Your Team

#### **KN95 Masks**

Box of 40 \$3.50 each - **Now \$140** Case of 600 \$3.15 each - **Now \$1,890** Full Pallet of 20,000 \$2.85 each - **Now \$57,000** 





## Bulk 3-Ply Disposable Face Mask

Case of 900 \$.85 each - **Now \$765** Full Pallet of 54,000 \$.75 each - **Now \$40,500** 

SKU# RA3

Contact me today at 800-284-5449 or Scott@HDIforU.com www.HDIforU.com



# Splash Protection Face Shield

Case of 50 \$2.90 each - **Now \$145** Master Case of 200 \$2.50 each - **Now \$500** 



Anti-Fog and Anti-Static treatment Latex free, fiberglass free, distorter for Foam headband relieves pressure Light weight, Optically clear OSHA-compliant

- OSHA compliant
- Anti-fog and Anti-static treatment
- Latex free, fiberglass free, distortion free
- Foam headband relieves pressure
- Lightweight, optically clear

### Contact me today at 800-284-5449 or Scott@HDIforU.com www.HDIforU.com





# More great PPE Products:

#### Disposable Gloves - S, M, L 100 Ct Box

Case of 10 \$7.95 per box - \$79.50 Case Full Pallet of 96 Cases \$7.70 per box - **Now \$7,392** 

#### Infrared Thermometer

\$45 each \$2550 Case of 50



#### Anti-bacterial Wipes 30 Wipes

\$3.75 each \$180 Case of 48



#### Deluxe 1.5" Foam Protective Shield

\$3.95 each \$197.50 Case of 50

- Extra Comfort
- More Breathable Space
- Anti-Fog, Anti-Static

#### Contact me today at 800-284-5449 or Scott@HDlforU.com





- 35 Years of Experience
- Personalized Sales Support
- Exclusively Wholesale
- Extensive Product Selection

# Children's Disposable 3-Ply Mask





Item #RA4 Prepay with CC or ACH Asst 4 Styles \$1.15 Each 2000 per Case \$2300 Case www.HDlforU.com

Contact me today at 800-284-5449 or Scott@HDlforU.com



- 35 Years of Experience
- Personalized Sales Support
- Exclusively Wholesale
- Extensive Product Selection



# Moisturizing 16.9 oz Hand Sanitizer Pump





\$7.50/bottle Full Pallet Purchase Only 1248 Units \$9,360 24 per case

80% alcohol content Kills 99% of germs Pleasant scent with Aloe, Camellia and Rosemary Leaf Extracts

#### Contact me today at 800-284-5449 or Scott@HDIforU.com



- 35 Years of Experience
- Personalized Sales Support
- **Exclusively Wholesale**
- **Extensive Product Selection**





- Kills 99.99% of germs
- Moisturizes with Vitamin E & Aloe
- Pleasant lemon scent
- Safe for the entire family
- Ships week of May 20 \$3.15/bottle 12 per Case \$37.80 minimum 8 cases SKU: PW7110
- **Full Pallet 315 Cases = 3780 bottles** \$11,907 UPC 0-12277-07110-2 Prepay with CC or ACH
- **Contact us today at 800-284-5449 or** Scott@HDIforU.com



- 35 Years of Experience
- Personalized Sales Support
- Exclusively Wholesale
- Extensive Product Selection



# 7.2 oz Moisturizing Hand Sanitizer



- 24 per case
- 70% Alcohol Content
- Kills 99% of germs
- Vitamin E and B5
- Large 7.2 oz bottle

Free Shipping on 1/2 Pallet or more! 1/2 Pallet = 100 Cases = 2,400 bottles Full Pallet = 200 Cases = 4,800 bottles 7.2 oz Bottles \$6.50/bottle \$156/case

3 Case Minimum |

Prepay with CC or ACH

Contact me today at 800-284-5449 or Scott@HDIforU.com